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M.Com. (THIRD SEMESTER)
EXAMINATION, Dec. - Jan., 2021-22

Paper Fourth
MANAGEMENT ACCOUNTING

Time : Three Hours] [Maximum Marks:80
[Minimum Pass marks : 16

 
Note : Attempt all sections as directed.



Section - A



(Objective/Multiple choice Questions)

 

Note:Attempt all questions. Each question carries 1
mark.



Choose the correct answer:

P.T.O.
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1.   

(A) 

(B) 

(C) 

(D)  

Management Accounting was introduced in :

(A) America

(B) Japan

(C) India

(D) Italy

2. 

(A)  

(B)  

(C)  

(D) 

Financial statement provide a summary of :

(A) Assets

(B) Liabilities

(C) Accounts

(D) All of these

3. 

(A)   

(B)     

(C)    

(D)   
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Management Accounting is highly sensitive towards:

(A) Government needs

(B) Investors needs

(C) Management needs

(D) All these needs

4. 


(A)  

(B)  

(C)  

(D)  

Which of the following centre does not exist in resp-
onsibilty Accounting?

(A) Sales centre

(B) Investment centre

(C) Profit centre

(D) Expenditure centre

5. 

(A)   

(B)   

(C)   

(D) 

P.T.O.
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Budget is prepared:

(A) For the current period

(B) For the past period

(C) For the future period

(D) For all the above period

6.   

(A)  

(B)  

(C)  

(D)     

Which Budget is prepared first of all?

(A) Production Budget

(B) Sales Budget

(C) Master Budget

(D) Budget for all key factors

7. 

(A) 

(B)  

(C)   

(D)  

The starting point of Responsibility Accounting is-

(A) Organisation Chart.

(B) Profit Centre

(C) Cost of Capital

(D) Working Capital Decisions.
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8. 

  

   

  

  

(A) 

(B) 

(C) 

(D) 

Arrange the following Accounting Branches in correct se-
quence-

(1) Management Accounting

(2) Cost Accounting

(3) Financial Accounting

(4) Tax Accounting

(A) 1, 2, 3 and 4.

(B) 2, 3, 4 and 1.

(C) 3, 4, 2 and 1.

(D) 3, 2, 1 and 4.

9. 



(A)   (B)   

(C) (A)(B) (D) 

P.T.O.
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At 50% capacity expenses are RS. 2,00,000 which in-
creases by 10% between 60% and 80% level of activity
and 20% thereafter These are.

(A) Variable expenses

(B) Semi-variable expenses

(C) (A) and (B) Both

(D) None of these.

10. 

(A) 

(B) 

(C) 

(D)  

A standard cost is :

(A) Always greater than actual cost.

(B) The cost that gives maximum profit.

(C) The average cost of production in the last period.

(D) A target cost for the period ahead.

11.    

(A)  (B) 

(C)  (D)  

Standard costing are used for -

(A) Cost control (B) Price Determination

(C) Inventory Valuation (D) All the above.
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12. 

(A) AQx(AP-SP)

(B) SPx(SQ-AQ)

(C) SQx(SP-AP)

(D) AQx(SP-AP)

Which is the correct formula for calculating Material Price
Variance?

(A) AQ × (AP-SP)

(B) SP × (SQ-AQ)

(C) SQ × (SP-AP)

(D) AQ × (SP-AP)

13. 

(A) LEV=LCV-LRV

(B) LEV=LCV+LRV

(C) LEV=SC per unit (AY-SY)

(D) LEV=LCV-LYV

Which of the following relation is correct?

(A) LEV=LCV-LRV

(B) LEV=LCV+LRV

(C) LEV=SC per unit (AY-SY)

(D) LEV=LCV-LYV

P.T.O.
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14. 

(A)  

(B)  

(C)  

(D)  

Which cost is more useful for decision making?

(A) Marginal Cost

(B) Fixed Cost

(C) Total Cost

(D) Production Cost

15.   

(A) 

(B) 

(C) 

(D) 

Marginal costing is the most useful technique for the -

(A) Management

(B) Creditors

(C) Shareholders

(D) Government
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16.  

(A)  

(B)  

(C)  

(D)  

Where demand forecasting is difficult, budget is prepared-

(A) Fixed Budget

(B) Flexible Budget

(C) Master Budget

(D) Production Budget

17. 

(A) 

(B)  

(C) 

(D) 

Area of decision of Marginal Costing is not-

(A) Make or Buy decision.

(B) Decision in the area of Marketing

(C) Decision in the area of Production

(D) Decision in the area of Accounting.

P.T.O.
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18. 

(A)  

(B)  

(C)  

(D)  

Marginal Costing clearly indicates-

(A) Fixed cost

(B)  Total cost

(C) Absorption cost

(D) Cost-Volume profit relationship

19. _____

(A) 

(B) 

(C) 

(D) 

Responsibility centres are usually classified into_____
classes.

(A) One

(B) Two

(C) Three

(D) Four
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20. 

(A)  

(B)  

(C)  

(D)  

In Marginal costing stock of finished goods is valued at:

(A) Prime Cost

(B) Factory Cost

(C) Variable Cost

(D) Total Cost



Section - B



(Very short Answer type Questions)

 


Note : Attempt all questions in 2 - 3 sentences. Each
question carries 2 marks.

1.   

Describe any two objectives of Management Accounting.

2.      

Write two characteristics of Cost Center.

P.T.O.
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3.   

Give one definition of Responsibility Accounting.

4.  

Discuss any one difference between fixed budget and
flexible budget.

5. 

What is standard cost?

6.  

Name the Labour variances.

7.    

Write the formula of the shut down point.

8.           
   

Name any two Managerial decisions to be taken on the
basis of Marginal Cost Method.



Section - C



(Short answer type questions)


    

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Attempt any eight questions. Each question to be
answered in 75 words, except numerical question.
Each question carries 3 marks.

1.      

Describe any three characteristics of Management

Accounting.

2.   

Explain the importance of Management Accounting in

Decision - Making.

3. 

What is meant by Investment Centre?

4.     

Give advantages of Responsibility Accounting.

5.         

Rs.        



Direct Material is Rs.1,20,000/- at 60% level of activity.

Find out the amount of direct material at 80%, 90%, and

100% level of production.

6.    

Explain semi- variable cost.

P.T.O.
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7.    

  

    

  

   

Calculate labour cost variance and labour variance.

Standard rate of labour Rs 5 per hour

Actual rate of labour Rs 6 per hour

Standard time 250 hours

Actual time 200 hours

8. 

  =  

 =  

  =  

  =   

Calculate Material variance from the following informa-
tions

Standard Quantity = 16 kg

Standard Value = Rs. 1 per kg

Actual Quantity = 20 kg

Actual Value = Rs. 1.50 per kg
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9.   

Write any two limitations of Marginal Costing.

10. 

What is pricing decisions?



Section - D



(Long answer type questions)





All questions of this section are compulsory. Each
question except numerical question is to be an-
swered in about 150 words. Each question carries 5
marks.

1.        

Explain the techniques or methods of Management
Accounting.



or

P.T.O.
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
A 



  

    

   

   

   

  

  -A      





A company  operate a number of department at different
regions. Department 'A' incurred losses in the first half of
the current year. Relevant revenues and costs data per-
taining to this department is as follows.

Sales Rs. 11,25,000

Controllable variable costs Rs. 6,25,000

Controllable fixed costs Rs 2,50,000

Allocated costs Rs. 1,75,000

Uncontrollable costs Rs. 87,500

Loss Rs 12,500



[17]

F-114

You are required to (1) Prepare a performance evalua-
tion report of department 'A' in the proper form and

(2) Advice the management whether its operations should
be continued or shut-down.

2. 


`
 
 
  
 
 
 
   


         

The expenses for production of 20,000 units in R.K. Steels
limited are  as follows:

` per unit
Material 55.00
Labour 35.00
Variable overhead 32.00
Fixed overhead (Rs160,000) 8.00
Selling Expenses (30% fixed) 10.00
Distribution Expenses (40% fixed) 15,00

Administrative Expenses (Rs 80,000) 4.00

159.00

P.T.O.
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Prepare a flexible budget for 16,000 units and 12,000 units
assuming that adminstrative expenses are constant for
all level of production.



or

          


What do you understand by budget? Explain the different
types of budgets.

  
   

Explain the terms 'Standard Cost' and 'Standard cost-
ing'. Enumerate the advantages of Standard Costing.



or

   

  

 

 

      
A 275 kg 10 300 kg

B 225 kg 15 200 kg
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From the following particulars calculate:

(i) Material cost variance.

(ii) Material price variance.

(iii) Material Mix Variance.

Material Standard Standard Actual

quantity Price Quality

A 275 kg ` 10 300 kg

B 225 kg ` 15 200 kg

 

 ` 

 ` 

  ` 

  ` 

    

From the following information Calculate marginal cost:

Material (Per Unit) ` 6

Wages (Per Unit) ` 

Variable Expenses (Per Unit) ` 3

Fixed Expenses ` 

Level of output 2,000 and 3,000 Units
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

or



 

Discuss some of the important applications of Marginal

Costing for managerial decisions.


